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1. () Intercept — 400 — fixed costs|overheads.
Giaduent — 20 — cost per port .
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ca) luterept — 300 — fixed cost *6 £200,000 .
Gladient — 30 ~ C(xg%odE £30,000 per part .
() 30x +300 < 1000
= % < 2333
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Approcimation as We use the mid points
(1. Make data seems positivelsy sheused . Use tre udion bere?

(C) P( S(Marj > £26,000 ‘ Sala;}j > Ego,()oo)
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(A) See graph.
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Agploximation as We use mid-poinke

(b Females will be smaller as these data are Clﬂm’lj less
dlispersed .

() 1GE is ot distorted oy outliefs of skewd data. T
farge, however , 15 |



[ X :No-of Cudtoners put ‘eh hold” .
@ X~Bin(15, 03)
Fim no. af trials, €0tk one hw\)ir\j two outtomes.
i E(X) =45 calls; SDOX) = |77 calls .
) P(X<y) = 0351k

) w T~ Exponmﬁwl(/\\,
ey =k=z = AL

T Erp(2) Chepter 5
So T ~ |
| —?.-(’Llr\ = 0242
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Y
ay 1-e> =4
= );HQ) _'\_)_Ol 2'

9. (s) Constont fate.
ln ) ECQ = 45 records; SDX) = [t = 2-12 records.

) P(X <L) = 0-0€ll.

@ Y No of cofupanies fined.
Y ~Rin(6, 0-93%9)
P(Y>y) = PLY=8)+ P(Y=6) = 09525

2 (d) X~ Poisson ().
p PL1ex ¢y =Px=D L P(x=1) +P(X=3) = 0415

5l kpﬁ(o'g) Chapter &
:"{'—6“‘“0‘5} =035
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| | X NN(?)‘SO, %é”‘)
() P(X>u5o) = P(2v102) = |- 0-Blel = 01539
(B) P(3504Xc450) = P(2L1-00) = P(2€0) = O54el ~05 =03bb]

(<) from tables, p(z »1-9%) = L57.

= 9L = X-350 = X=£54300C
9% -5

2 x~N(31,23")
Gy P(x<26) =P(24-21F) =005
b P(x>37) =P(2>16) = | —094%s = 0-004S .
() We wont P(X> L&) =075
o P(X < LR) =025,
From tables, P2 ¢-0'6%)% 0-15
= _o06t % =3 D> (] % £29L59

2-5
CHAFTER (.
| (@) 104+ 2.013 325 —> £(%-%%,11-92)
20

(B) Natfower, as we ore less confident.
(0) Hoi/«ls :/‘A'z, vVersus Hi /us #/,tg,
5= 939287+ Wx 22" = 7345
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| (0fo 5l 7. . .
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Critical Value [1-eus |95 25%  Suggst o el diffaence
' in sped s atthe two Shop.




2. Ho' p=350 versus Hi u 350

F= | FF+. '
'> p between 1h &5 4 Moderaty enidence

From tubles: against He
p| 107 5l ¥If # Reject Hoin fanow o
|lzig 131 2492 Hh.
* There 15 evidence to
Sipport the NS papes’s
Awim .

CHAPTERL F.
r= =061 = modeate f\ff)(zfl\,‘e Lineas Os<ociation

(0)
() B = W€ _ 020 po = 1165+ 0216x3F <1642
214
= y= 196u1-02lxt £ £~N(0,0%)

Slope. = —0°21¢ with every Lyeor indease In age, the
predicked number of blips Will decfease by 026
@ For J-King, Y= 3-302 <9, so No, we cannot expert huim
to fass the test!
9 (a) The refmﬁorrm.p IS Siqnifscant, as the pvalie for the test
Ho‘.f: O is less than 0°05 opd so We Wowld rfjﬁ(;t Ho hure .
There 1s 0 sigugicent, positive el association.
(B) Sw, = 345915 Sox = 566:521) Syy = L6149
= y =030 Clea +E, ¢ ~N (0,07)
= When X=-2'5, t]s-—l‘.l"ﬂ.



